meal

n # PXL hits vs eta

<pixel hits> [

6

=
T 1 T T 11

0.955

F -
= -

mean

# PXL Layers with measurement vs eta |

<pixel layers> [

n w -
N O w U N a

.....................................................................

=
T TT

0.955

T 1000evt

<strip hits> [

Ratio

18
16
14
12
10

||
[Mrm

ST
STOLHIT_1000th 50000t

- H H 4
r . . ]
1 1 1 I 11 1

L ARRYES j

5 g 3
L 1 x L[ T4+ 3
| * &1 3:""0 4
| 2T HY
—- A EHE 2l R P S

1 o4 SH: p S RE b

o + 4| |+
L =Ll |* + 3

+ [#T7 L

i ki

0.955

<strip layers>

Ratio

10

0.955




	Contents
	Page 1


